XRAY M18T - SPARE PARTS LIST 05.017

XRAY MODEL RACING CARS, PO BOX 103, 911 50 TRENCIN, SLOVAKIA

TEL: +421-905-402724

www.teamxray.com e-mail: support@teamxray.com

PART

ORDER

COMMENTS

38 0500 XRAY M18T - 4WD SHAFT DRIVE 1/18 MICRO TRUCK

38 0591 XRAY M18T - 4WD SHAFT DRIVE 1/18 MICRO TRUCK + POWER PACK PRO

38 0595 XRAY MICRO MONSTER TRUCK CONVERSION SET OPTION
38 1160 COMPOSITE MICRO CHASSIS M18T

38 1180 COMPOSITE TOP DECK M18T

38 1210 LOWER FRONT & REAR BUMPER M18T

38 2041 ALU HEAT SINK FOR SUPER SIZE MOTOR OPTION
38 2050 COMPOSITE MOTOR HOLDER M18T

38 2090 SHOCK TOWER FRONT & REAR M18T

38 2120 SET OF FRONT LOWER SUSPENSION ARMS M18T

38 2150 SET OF FRONT UPPER SUSPENSION ARMS M18T

38 2200 COMPOSITE SUSPENSION BLOCK, L+R (2)

38 2411 ANTI-ROLL BAR FRONT & REAR 1 MM

382412 ANTI-ROLL BAR FRONT & REAR 1.2 MM OPTION
38 2500 MICRO SERVO SAVER

38 2620 ADJUSTABLE TURNBUCKLE 40MM

38 2650 SET OF STEERING PARTS

38 3120 SET OF REAR LOWER SUSPENSION ARMS M18T

38 3150 SET OF REAR UPPER SUSPENSION ARMS M18T

38 3240 LINKAGE REAR M18T (2)

38 5001 ALU ADJ. BALL DIFFERENTIAL - HARD COATED - SET OPTION
38 5002 COMPOSITE ADJ. BALL DIFFERENTIAL

38 5035 BEVELED DIFF. GEAR FOR BALL DIFF.

38 5062 GEARBOX CASE M18T

38 5095 BALL DIFF D - WASHER (2)

38 5300 COMPOSITE DRIVE SHAFT SET M18T (2)

38 5522 ALU MAIN DRIVESHAFT M18T

38 5531 MAIN DRIVESHAFT PINION GEAR & HUB M18T

38 5701 COMPOSITE PINION SET (13,14,15,16) OPTION
38 5702 COMPOSITE PINION SET (9,10,11,12)

38 5754 SPUR GEAR 54T / 48

38 6120 COMPOSITE BATTERY HOLDER SET M18T

38 6210 COMPOSITE SERVO MOUNT M18T (2)

38 6310 ANTENNA

38 7410 SET OF COMPOSITE PIVOT BALLS M18T

38 8080 MICRO SHOCKABSORBER MEMBRANES (4)

38 8100 SHOCK ABSORBER-SET M18T (4)

388110 COMPOSITE FRAME SHOCK PARTS (2)

38 8160 FRONT MICRO SHOCK SHAFT M18T (2)

38 8166 REAR MICRO SHOCK SHAFT M18T (2)

38 8191 XRAY SPRING-SET M18T




PART

ORDER

COMMENTS

38 9000

BALL-BEARING SET (16)

38 9102 XRAY M18T POWER PACK PRO OPTION
(6 CELL BATTERY PACK, MICRO MOTOR, MICRO SERVO, MICRO SPEEDO)

38 9123 XRAY BATTERY PACK 6-CELL 1100mAh NiMH SUPERCHARGED - 7.2V OPTION

38 9130 SET OF XRAY MICRO CABLES OPTION

38 9131 XRAY MICRO CABLE WITH FASTON CONNECTOR (SET) OPTION

38 9162 XRAY MICRO MOTOR 300 SUPERSIZE WITH PLUG OPTION

389170 XRAY XMSO1MG MICRO SERVO - METAL GEAR OPTION

38 9182 XRAY MICRO SPEED CONTROLLER 300R WITH REVERSE OPTION

38 9400 MICRO BODY CLIP (10)

38 9610 MICRO M18T SLICK TIRE & INSERT (4+4)

38 9750 MICRO BODY M18T

38 9930 WHEEL STARBURST AERODISK - M18T (4)

39 7341 XRAY M18T STICKER FOR BODY - WHITE

35 9601 SILICONE DIFF OIL 50ML - "1000"

90 1260 HEX SCREW SB M2.5x10 (10)

90 1262 HEX SCREW SB M2.5x12 (10)

90 1303 HEX SCREW SB M3x3 (10)

90 1325 HEX SCREW SB M3x25 (10)

90 5206 SCREW PHILLIPS 2.2x6 (10)

90 5208 SCREW PHILLIPS 2.2x8 (10)

905210 SCREW PHILLIPS 2.2x10 (10)

90 5212 SCREW PHILLIPS 2.2x12 (10)

90 5214 SCREW PHILLIPS 2.2x14 (10)

90 5258 SCREW PHILLIPS 2.5x8 (10)

90 5260 SCREW PHILLIPS 2.5x10 (10)

90 5262 SCREW PHILLIPS 2.5x12 (10)

90 5264 SCREW PHILLIPS 2.5x14 (10)

90 6210 SCREW PHILLIPS FH 2.2x10 (10)

90 6258 SCREW PHILLIPS FH 2.5x8 (10)

90 7270 SCREW PHILLIPS 2.5x20 (10)

90 7306 SCREW PHILLIPS 3x6 (10)

90 7310 SCREW PHILLIPS 3x10 (10)

93 0020 BALL STEEL 2.4MM (24)

93 0025 BALL-BEARING AXIAL 2.5x5.4x0.8

93 0120 CARBIDE BALL 2.4MM (12) OPTION

930125 CARBIDE BALL-BEARING AXIAL 2.5x5.4x0.8 OPTION

93 0407 BALL-BEARING MR74ZZ 4x7x2.5 (2)

93 0508 BALL-BEARING MR85ZZ 5x8x2.5 (2)

930610 BALL-BEARING MR106ZZ 6x10x3 (2)

930812 BALL-BEARING MR128ZZ 8x12x3.5 (2)

96 0025 NUT M2.5 (10)

96 0030 NUT M3 (10)

96 1022 WASHER S 2.2 (10)

96 1025 WASHER S 2.5 (10)

96 5015 E-CLIP 1.5 (10)

97 0040 O-RING 4x1 (10)

98 1208 PIN 2x8 (10)




